
7th December                         Foundation Plus 5-a-day                       

The table shows the number of 
bedrooms that houses have in a town.
Calculate the mean number of 
bedrooms.

Write down the gradient of the line L

Write down the equation of the line L.

Orla weighed 3.77kg when she was 
born.
On Orla’s second birthday she 
weighed 12.8kg.

Calculate the percentage increase in 
her weight.

7.545 has been truncated to three 
decimal places.

Write down an inequality to show the 
range of possible actual values.
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